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JNE] i H FEHE H SREh e fhENRE TN E)
LU HaEL 5 el Aol sl Al el s Al dsdl AEH (5 | (&5
ikl 46, 781) 109, 427] 53, 490] 55,937 44 39 -40 63 103 79]  434] 355 0 106 106
HI—TH 670l 1,420 694 726 1 -3 -2 0 2 -1 2 3 0 0 0
FL T H 547l 1,318 666 652 -2 -1 -1 1 2 0 1 1 0 0 0
LI =TH 455 1,020 492 528 —4 -6 1 2 1 —4 0 4 -3 0 3
JLlAE 1,672 3,758]  1,852| 1,906 =5 -10 -2 3 5 -5 3 8 -3 0 3
Sk —TH 484 999 476 523 -1 -2 -2 0 2 1 4 3 -1 0 1
. = 769 1,823 881 942 4 2 -1 1 2 2 3 1 1 2 1
SR —TH 544 1,307 629 678 —4 -5 1 1 0 —4 3 7 -2 0 2
S AT H 377 919 446 473 1 1 0 0 0 1 1 0 0 0 0
o h ] B 571 1,267 619 648 0 0 -1 0 1 2 5 3 -1 0 1
BN T B 223 486 227 259 1 3 -2 0 2 2 2 0 3 3 0
ARt TH 639 1,644 811 833 1 2 2 2 0 2 3 1 -2 1 3
oA\ T H 390 886 439 447 -1 -2 1 1 0 3 4 1 -6 1 7
IV B 596| 1,434 722 712 5 9 -1 1 2 8 11 3 2 3 1
S aaatl 4,593 10,765| 5,250 5,515 6 8 -3 6 9 17 36 19 —6 10 16
e n—1H 337 806 406 400 0 3 1 1 0 1 2 1 1 1 0
HeEr R _ T H 930|l 1,997 986 1,011 -2 -3 -2 0 2 -1 2 3 0 0 0
HHk o —TH 680[ 1,453 708 745 -1 —4 -1 1 2 -3 1 4 0 0 0
W A AEEL 1,947 4,256] 2,100 2,156 -3 —4 -2 2 4 -3 5 8 1 1 0
Mt A — T H 570/ 1,248 611 637 -2 -2 1 1 0 -3 1 4 0 0 0
ek R _TH 366 920 477 443 -1 0 1 1 0 -1 0 1 0 0 0
Mk R =TH 241 536 265 271 -2 1 3 3 0 -1 0 1 -1 0 1
ik L G| 526 1,297 667 630 -71  -11 -3 0 3 -6 0 6 -2 0 2
ek aaEtl 1,703 4,001 2,020 1,981 -12] -12 2 5 3| -1l 1 12 -3 0 3
TEIT) 356 984 431 553 0 5 1 1 4 9 5 1 1 0
HOEEN— T H 155 383 181 202 0 -2 -1 0 1 -1 1 2 0 0 0
HOEE T H 420 991 471 520 3 3 -1 1 2 5 6 1 -1 0 1
HoEEI =T H 683 1,733 837 896 2 0 2 2 0 -1 3 4 -1 0 1
HOEEAN T H 741 1,847 906 941 6 9 3 1 1 11 10 6 11 5
HEROH T H 403 987 493 494 0 4 -1 0 1 1 4 4 4 0
HOEEIS T H 390 939 458 481 0 0 -1 0 1 2 2 -1 0 1
HoEEOETH 646| 1,466 717 749 1 8 -1 1 2 17 12 4 4 0
HOEEOSE| 3,438 8,346 4,063] 4,283 12 22 -1 7 8 12 44 32 11 19 8
PEEE| 1,481 2,952 1,381 1,571 8 3 -3 1 4 6 14 8 0 2 2
FHIAR 325 695 348 347 0 0 0 0 2 2 1 1 0
R e — T F 460 991 481 510 0 0 2 2 0 —4 4 8 2 3 1
EE g — T 222 484 249 235 -1 -2 0 0 0 -1 2 3 -1 1 2
R = T 497 1, 148 575 573 4 8 0 0 0 6 7 1 2 3 1
TEE Py T 588 1,257 597 660 -5 -3 0 2 2 -2 3 5 -1 0 1
EEP g R T H 204 528 256 272 0 0 0 0 0 0 0 0 0 0 0
EER A2 1,971 4,408]  2,158| 2,250 -2 3 2 4 2 -1 16 17 2 7 5
EEIARRT— T H 664 1,405 669 736 -1 3 0 2 2 -2 4 6 5 5 0
EEIARRT T H 700 1,394 669 725 0 -9 -1 0 1 -8 5 13 0 0 0
EEOARRTAE 1,364 2,799 1,338| 1,461 -1 -6 -1 2 3| -10 19 5 5 0
RPN 317 868 488 380 10 13 0 0 0 14 17 3 -1 0 1
WHR—TH 706/ 1,701 848 853 0 2 0 0 2 6 4 0 3 3
HOOR T H| 1,653 3,899 1,897] 2,002 13 25 5 4 14 19 5 10 10 0
WHR=TH 832l 2,184| 1,064 1,120 1 0 0 1 1 -2 1 3 2 2 0
HHRIT H 4911 1,204 578 626 -3 —4 -1 1 2 -1 1 2 -2 0 2
HPREEH 3,682]  8,988| 4,387 4,601 11 23 7 7 13 27 14 10 15 5
HiR—TH 640l 1,553 762 791 -2 -5 0 0 0 4 4 -5 2 7
LR - TH 893l 2,195| 1,084| 1,111 4 7 2 2 5 15 10 2 4 2
PR =TH 444 949 494 455 -1 -2 -2 1 3 1 2 1 -1 0 1
edRAE 1,977 4,697 2,340| 2,357 1 0 -2 3 5 6 21 15 -4 6 10
T IROBTHT 321 802 381 421 -1 -3 0 0 0 0 0 -3 0 3
WIEl 1,606  4,967| 2,278 2,689 2 3 -3 0 3 4 4 2 4 2
FRE— T H 769] 1,818 899 919 -1 -2 -1 1 2 -1 3 0 0
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LU HaEL 5 i ] A HEPER| AR SET) ] A ERsH &EH (H) | (&)

FYlE 1T H 691 1,834 930 904 -7l -12 -2 1 3 -8 2 10 -2 0 2
MoE =1 H 631 1,550 766 784 -1 -1 0 0 0 2 3 1 -3 0 3
A EN T H 898 2,186| 1,069 1,117 -2 -5 -3 2 5 7 11 4 -9 0 9
RCENNE 5811 1,390 669 721 -5 -6 -1 0 1 -5 3 8 0 0 0
MAESTH 414 1,022 489 533 2 1 -1 0 1 2 2 0 0 0 0
mAlE e 3,984 9,800] 4,822| 4,978 14| 25 -8 4 12 -3 24 271l -14 0 14
VEPIe S 528/ 1,139 565 574 4 4 1 2 1 1 3 2 2 2 0
e —TH 319 691 338 353 —4 -8 —4 0 4 -2 2 -2 1 3
i — T H 592l 1,367 664 703 0 -1 -2 0 2 1 1 0 0 0
A gl 911) 2,058] 1,002 1,056 —4 -9 -6 0 6 -1 3 -2 1 3
E— 1 H 308 697 340 357 19 20 1 1 0 18 74 56 1 1 0
B — T H 647 1,373 656 717 3 -1 0 1 3 5 1 1 0
=T H 400/ 1,024 515 509 1 0 0 0 0 2 3 3 0
A 1,355 3,094 1,511] 1,583 23 26 0 1 1 21 81 60 5 5 0
e —TH 382 1,013 482 531 2 6 0 0 0 2 3 1 4 4 0
HYE T H 438 1,113 562 551 -1 —4 -2 0 2 -2 3 5 0 0 0
HHE T H 748 1,873 950 923 —4 -9 -1 1 2 —4 1 5 —4 1 5
W& T B 460[ 1,064 507 557 0 0 -1 1 2 0 2 2 1 4 3
B E ] H 724/ 1,650 817 833 5 8 1 3 2 4 8 4 3 3 0
HHIENT H 220 469 242 227 1 1 0 0 0 0 0 0 1 1 0
HEOEE 2,972l 7,182| 3,560 3,622 3 2 -3 5 8 0 17 17 5 13 8
<HWE—TH 609| 1,437 712 725 4 6 0 1 1 5 8 3 1 1 0
<HEIL—TH 711 1,530 748 782 6 4 -1 0 1 4 8 4 1 2 1
SHBEIL=TH 5010 1,147 570 577 -1 —4 -1 0 1 -3 3 6 0 0 0
<HEWLPTH 506( 1,121 561 560 -2 -2 1 1 0 -3 1 4 0 0 0
<O T H 331 736 405 331 0 -1 1 1 0 -2 0 2 0 0 0
<WEEEH 2,658 5,971 2,996 2,975 7 0 3 3 1 20 19 2 3 1
WIE AR —TH 779 1,698 849 849 1 1 0 4 6 2 0 3 3
WIEAR T H 462 1,125 571 554 -1 -1 -3 0 3 2 2 0 0 0 0
WIEARTAE 1,241 2,823 1,420 1,403 2 4 -2 1 3 6 2 0 3 3
s 428 826 409 417 2 -1 0 0 0 1 3 -2 1 3
ek a—TH|[ 1,008 1,677 743 934 -2 -3 1 1 0 —4 10 14 0 1 1
e T H 400 684 322 362 -1 —4 0 0 0 8 11 3 -12 0 12
kR =T H 635 1,704 801 903 0 -2 1 1 0 —4 2 6 1 1 0
sk BRI H 395 848 409 439 -3 -2 -3 1 4 -3 4 7 4 4 0
i aaEl 2,438 4,913 2,275 2,638 6|  -11 -1 3 4 -3 27 30 -7 6 13
FRIREET 20 59 31 28 0 0 0 0 0 0 0 0 0 0 0
B 781l 1,834 898 936 -1 -2 -3 0 3 0 6 6 1 1 0
VEEE 281 672 325 347 1 3 0 1 1 3 4 1 0 0 0
e — T H 409 1,083 551 532 -2 -3 -1 0 1 -2 0 2 0 0 0
e T H 393 924 447 477 4 4 -1 0 1 5 10 5 0 0 0
oo B R 802|l 2,007 998] 1,009 1 -2 0 2 3 10 7 0 0 0
P — T H 610[ 1,318 655 663 6 0 1 1 6 12 6 0 0 0
P T H 509 1,233 585 648 -2 -2 -2 0 2 2 5 3 -2 0 2
Ve A et 1,119 2,551 1,240] 1,311 0 4 -2 1 3 8 17 9 -2 0 2
P e 284 667 329 338 -3 —4 0 1 1 -3 3 -1 0 1
BEHIR 226 545 294 251 1 -2 -1 0 1 -1 4 0 0 0




